Unit 10 Day 2 2020 per8-9.notebook February 25, 2020

Unlt 1 O Day 1 HW After checking hw, start the warm-up.

Unit10Day 1 HW 2. See table and graph on the next slide
1. See table and graph onnext slide 3 pawn 3:x=0
f(x) = log, x ’
3 4. Right5,Up2;x=5
Domain (0,=)
5. Left 2, Down 3; x =-2

Range (—=, =)

Original: y=0 6. a

Inverse: x=0

Jan 20-5:35 PM

1. Graph f(x)=(3) anditsinverse. \\ m
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What is the equation of the inverse? F (x)— IOS_:'SX

What is the domainand range of the inverse?

Domain (O} eO)

Range (—oo) °<5>

What are the asymptotes of the original and inverse equations?

Original (j =0
Inverse X '—_-O

Jan 19-10:59 AM
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DY a0 = bg3Ck2) it A

Jan 23-10:48 AM

In questions 3-5,

a. State the transformation(s) that have occurred.
b. State the equation of the asymptote.

3. y=logax - 3
Ocun ?)
X =0
4. y=logz(x - 5) + 2
UWp 72—
5. y=log (x+2)-3
Left 22 x=-2
Down 3 y_:o

6. Which s‘ra‘remen‘r@o_m the graph ¢(x) =log, x?
' @ s

@z asymptote has an equation @M% X=0 X=
b. The graph has no y-infercept
¢. The domain is the set of positive reals

d. The range is the set of all real numbers

Jan 19-11:00 AM
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Solving Exponential and Logarithmic Equations Unit 10 Day 2

Warm-up: On the graph below, p!o’rsing the values from the previous lesson.

Using these values plot the function = logz(x-3)+2 —» Pr#'s qf) 2
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k=0 a0
For the logarithmic function $x) = log2(x-3) + 2, explain is not in its
domain, Yhe \-erfNcad ao./w‘pfhle ved Rdin. k=0 T A=3.
o g;x\ thmahr s X D2 X201 L 3 0 >3

X =0 is ot *V-e_g_Cx) coman..

Jan 19-10:52 AM

Solving Exponential and Logarithmic
Equations

Jan 20-6:07 PM
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An exponential equation is an equation in which the variable is in te exponani.

When bases are not the same, follow these sTepsi 9 A
Steps: Example: .2': 2N
X
2-=7
1. Express each side of the equation 2%= 64 23':. 5
in terms of the same base. f = 31’ Y
; 2F
2. Set the exponents equal. A= - 2=3
2=
3. Solve.
Jan 19-10:55 AM
Solve for x. X
1. 3x=27 2. 8":,= 32 3. 4x= 162"'3}
X_2 3\X S - fyr\X~
3=3 (1) =2 ="
=3 = yYx—b
X,_ 3()(1-\):5 ~,\X =< +6
43 =5 b =3x
3x= L X= 2
=5 —
4. 9xia ¥ . 5 ; 5)4—;<
z )=[)
Ytk =3 Yxt
Yx = S
X="Yq
IX ==+
=2 ~2x

Jan 19-10:55 AM
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A / . L
General Rule: Iogb C=a< b = Restrictions b: buae DD and #/
¢ >0

Write in Exponential Form:
) A
L logyd=2 =9

3 _
2. log125-=3 _S_~= (25

3. log,100 = x jDX = /0 (A_—_Q.D
Write in Log Form:
4. F=9 2= log. 9 oa =2
J- VS _\- 4
5 107 =1 ]‘@sc'l):‘ / =g =1

6. 4 =16 105 ()= X

Jan 19-10:56 AM

Solve each equation for x:
Step 1: Putint exponen'rlal form

Step 2: Solve for’ X. f(
A~
L 2 logat 6 2. x-log64 67

)(__:_“I Y= g3
@ reject -y
~ 1 a2
3. = logs g =X 4. log,8l=x
X =364 =8/
'?S 3X:3 X:‘/

)

Jan 19-10:56 AM
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Evaluate: -
Step 1. Set expression equ —/—0_3_9/_
Step 2: Put into exponential form. 2
Step 3: Solve for x. /bi_
Step 4—€keskyour solution using the log base feature on your graphing calculator.
1. 2. logl =X D
X = X= =
3 '—9))(:.2 5—'( S)(zo
-2
— X-
3. log,— = é = 4, logsv3 =X
36
X= | = - = \/3/ S V4
6 x=1 36 X= 3):_ \ A=A
A =3
@ loger3 =X Iogii =X —X= -2
X :__3 X = J— X =
21 / ( 7 /—AL
3 =
(32773 ()=
e Jx= -2
X = 77=1

Jan 19-10:56 AM
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